Algebra 2 2.4

Write the equation of a line given a slope and a point on
the line.* / /
Write the equation of a line parallel to a given line.*
Write the equation of a line perpendicular to a given line.*
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[ ncept Slope-l Form

Words The slope-intercept form Model y
of the equation of a line
is y= mx + b, where m
is the slope and bis the fo, b)

: o x
y-intercept. phepermgear
Symbols y=mx+b
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% KeyConcept Point-Slope Form E

Words The point-slope form of Symbols slope
the equation of a line is
¥— ¥, = mix = x,), where l
(x;, y,) are the coordinates of Y=y, = mx=x)

a point on the line and m is
the slope of the line.

coordinates of a point on the line
Follow directions for form: if not specified, then you can decide.
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Whiteboards

Write an equation of the line through (6, —2) with a slope of —4.



GuidedPractice

Write an equation in slope-intercept form for the line described.
1

2A. passes through (2, 3); m = >

2B. passes through (=2, =1); m = =3
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KeyConcept Parallel and Perpendicular Lines

e

Parallel Lines

Perpendicular Lines

Two nonvertical lines are parallel if and only if
they have the same slope. All vertical lines are
parallel.
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Two nonvertical lines are perpendicular if and
only if the product of the slopes is —1. Vertical
lines and horizontal lines are perpendicular, <X= &

|-

TR |
)
/_.

’ i o,

=
I
|
| =
-
|
S

y=3+2andy=—3x—4




GuidedPractice

4. Write an equation in slope-intercept form for the line that passes through (3, 7) and
is parallel to the line with equation y = %x 0



. passes through (4, —10), parallel toy = %x -3



6. passes through (—9, —3), perpendicular to y = —-g-x -8



23. passes through (4, 2), perpendiculartoy = —2x + 3






